
12.6 CHECK EVENS FROM YESTERDAY

4 3 2 2 4 6 8

12.  99+70 2                18.  56

28.  16A 32 24 8A B A B AB B   



Binomial coefficient:  
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Reminder:  12.6 Notes
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Overall exponent = 2  there are 3 terms

binomial coeffcient
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LOOK FOR PATTERNS!



Be sure to show work for each individual term!

From 12.6 part 1



Be sure to show work when 
finding individual terms!

From 12.6 part 1



REMINDER: dividing like bases
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keep like base, subtract exponents

subtract exponents using 
a common denominator
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